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Q.1.

So Let two
digit

numbe is n

and X and y are digits

Acg,

we

After interchanging the digits the

num ber is y.
Know 4hat 20197

LAKSHYA
ACADEMY+

JAIPU R30201

27 + y

loy+ 27+ lo +E y

UR10

LAKSH

YA

|ACADEMY)

9 (y- )
Sum of en and e�.



Q. l4.

So 968 + /1315

2X 2| tt 5x31

23i21+5l1

2019J4

LAKSHYA
ACADEMY

AR3O02012

# After chamge by 'x' then the anSwey

363 x i375

3|2 X 2X 2 XI1% |)

LAKSHYAY
ACADEMYs 3 2X2 X2Xl xI|X S X Sx5

AIPUR30201

1)

3 3 3
2 x5 X |1

= 2 XS X I))



Q.23.

Le t the principad be

So qmovnt S

3
We Knou thet

A= P+SI

LAK

ACADEMYy)

JAIP
AUR30O201

SI A-P

SI = S*- = 3
21

Time = 6 4eas 8 months

3OP2

0197JAN

(LAKSHYA

ACADEMYs

JAIP

l2

(G+)yus
20
3

21
33
21
3 X Rx2O

2 X lo0 x 3

3 X M X 2o
= R

R ate = lo 7.



Q.28.

1
2

R

3

T

(a) a puralelogram o pposite sides ae
equad an d paralel.

PS Ra and Pa =SR

hiven, T is mid point then

PT TO

ST bi sects s, then
/LAKSHA
EACADEMY

22=23 (Alternat angles)

Then

Ps= PT

PST Isosceles tiangle

Ps= PT =Ta
Ps Ta

R1043 2R=2T
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Q.1.

So, Let 22222|
222223

F

LAKSH
YA

ACADEMY)S

R30201AIPU 1

333331
3 33334

1-= 1

2222-2|
222223

222223-22222|
222223

2
22 2223

1-Z= 1-:
333331
333334

333334-33333
)

333334

3
33333 4

ds wel as their invese,

3

We See that LAKSHA
ACADEMY

AIPUR302012

Sin ee al the num bes in quesHo

ae po siHve,
1- 1-Z >1

Then Sox,



Q.5.

Ans.

/LAKSHYA
ACADEMy

A

hiven, 2FAG= 20° 2FCGn s 30

In AFAG and FAE

fLAKSHYA
FA FAFA (Common Side)

ACADEMY) FG= FE (Ra jvs ot the civcle)

LFEA (Riyht Amyle)

by
S5 A ule

Also,

AFBD A FBE

(LAKSHA
ACADEMY)

JAIPU R30201

B
Angle

between

tarngendTadius

always go.

2A
204 20 2EAF = aAF 20=



Q.lo.

Ans.� Harold ate or the pie. Afky that,

1-= ot the pie was let behind.

he moose te x3-of the pie. Ater

that -t- otthe pie woof the pie was le+ behind.

The porcupine ae*= ot the pie. Af*r

that, - ofthe piepie was JeCt behind

of the origimad pie sti\ remained after the

Porcupine deft.
P120197

e/LAKSHYA
ACADEMY



K

(LAKSHA

ACADEMYs

JAY R302012

M

hiven that,

ON

LAKSHA
ACADEMY)S

JAIPUS
R-302

12

AkL M Sqvqe (AK=kL=LM= MA)

AABC � Isosce les Triamgle

(BABc)

AS = SL

Arter drawing line seyment KS

Ln A ks A and A ksL

onSie)k$=ks (Comnon

SA =SL (hiven)
kA =kL (side of Sqvat)

ELAKSHYA
ACADEMY|S

IPU
12

R-30201

By SSS rule,

AkSA AkS L



In
Congruent triangles AkSA and A kSL

2SkA =2SKL = <AKL
2

90°
2

2KAS ea.O2KLS = ZKAS

2kSA kSL

In A BC,

Hhe

BA=BC

2BAC = 2BcA

e/LAKSHYA
ACADEMy

APR

In Sqvat A KLM,

kL ||AM

OP
2019JA then KL I|Ac

LAKSH A
F|ACADEMY)

012
LBLK= L8cA

-3020

LCorresponding Anyley

<BLK = 8cA=28AC-e4.(2)

2SLB = LBLK +<LS
LSLB

15LB

2SLB

2KAC
0191JAS6PI20

LAKSHYA
CADEMy

JAP R0202

The vawe ot sLB is 90.
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Q.1.

Ans.� Since 3 pred iehons we tue,then

2 we ale2
First we wilI etemine uhich tam

Suppose that North w0 n. Then 4

predictions- (a), 6),c), (4)- wold be

true, which contractions

3696

+he fact that

enac tly 3 wet

Suppose that the jame ended in a dyuw.

his ma Key Pre
(a)(c)and (e)

Fadye(Sinee in ( dsaw,sthe totl num ber

Be even). ThuS, at
of goas scored nustye

mos t 2 predieHonsax e, agona

Contra dietion

Theo NoYth lost hea4me.Then c)and

(d)mwst be fadse. This means thet the

remaining Pedietions must be true, ramely

LA
that t4he Jame

did not end in a draw, Nor th

Scored aganst South an d the we

total.3 jo
.Then Soutth Scored

2 goul,and Nor th scored 1.



Ans.� In the seq ven ce,

2,6,l2, 20, 3o,...

OOPEO

ORJ10430

LAKSHYA
ACADEMYIS

Firs+ place = 2 = 1X 2

second place = 6 = 2%3
third place

|2 = 3X4 /LAKSHY
URITn,

ACADEMY,

fouyth place 2

s961place
= 30 Sx6

Sixth place = 42 =

Y963
nth place

m(n+1) = nx(n +1)

The nU mbey iY

AAC;
the 6 place is 42..I6.

Ans. when' speaking on the phone,the

charge in the battery is vsed

210 – 35 +imes faster than in stand by

mode.

Let's Say Alisha has spoken br x hovs.

Then theeis enough cherge in the battery

foy ano ther (6-a) houhour ot conversation

oy 35x (6-)hous of stand by ime.



Q.20.

Sou
A

002

ONS
LAKSHYA
ACADEMY

L9694

60 92

A
I20°

A

E
h20

60 LAKSHY
ACADEN

Hs)

In A DBE

2DE B +
t
LpBE +ZBpE = I8o

6°+ 26 -l8o



.29.
Ans

2 +1 = 256 +1 =2s7

NO
LAKSH YA

COEPUACADEMYl

343 >257
3

(y'> 2s

+1 = 2X3+1

S636961534

(2°)+1

(64)°+1
2

(64y°+ 1

(6y +1
No of cubes = (6

CARE

57+1
58

58pertet cubes ie beteen

RSHYA

2°+1 and8 2 +1.

(T)
2+3

(9)
M+2

LAKSH
YA

ACADEMY SJ

PLR

(Q) (P)
(R)

N+1


